TH304E ATA RANKING (2BRET)

[ AF5405-49RBFITILZ | 20184F07R05HE
. o P— aif | BAZ | DRE | BkE | mE | RXE | 20165 | RAF | DRE | BRE | mE | BXF | 20174
Point 18.04 18.09 18.11 18.11 19.01 Point 17.04 17.09 17.11 17.11 18.01 Point

1A B EHO-> 304 0 133 25 65 81 304
1= RE EHO-> 304 0 133 25 65 81 304
3| KM BT BHO-—-> 298 0 106 45 66 81 298
3T 81T S0 AL 298 0 106 45 66 81 298
S5|&ER Ez= River 242 0 74 65 46 57 242
6|EE [E— EHO-> 43 0 3 40 43
7|HE BXR FHFLR 42 0 5 37 42
7|48 &X ZOUvTC 42 0 5 37 42
9|ARE X— EHO-> 40 0 4 1 32 3] 40
10(ckE B— EHO-> 39 0 4 32 3] 39
11[ED F=E EHO-> 36 0 4 32 36
12|10l #— River 32 0 32 32
13|40 & EHO-> 15 0 15 15
132 158 SU AL 15 0 15 15
15(%8H f#— EHO-> 4 0 4 4
l6|Hk H#E SASNT 1 0 1 1
17|@EAF ®E  [eAo—> 0 0 0
17|88k A0 SU AL 0 0 0
17|55 #% SOUTTC 0 0 0
17|50 XE ZOUYTC 0 0 0
17|&F EZ EHO-> 0 0 0
170 55T =OUTTC 0 0 0
178K RH EHO-> 0 0 0
17|VAR BRR [BS7— 0 0 0




TH304E ATA RANKING (2BRET)

[ AF5>508-59HBFITIL | 20184F07R05HE
. o P— aif | BAZ | DRE | BkE | mE | RXE | 20165 | RAF | DRE | BRE | mE | BXF | 20174
Point 18.04 18.09 18.11 18.11 19.01 Point 17.04 17.09 17.11 17.11 18.01 Point
1(8pE & F—LUKT 156 0 74 25 57 156
2|4tk 2 SV 25 0 4 15 3 3] 25
2| R F—LUKT 25 0 25 25
4B ¥ SIS 15 0 15 15
5|8 EB H7— 11 0 4 1 3 3] 11
6EH LT Syl 8 0 5 3 8
6|FR T2 SvLFT 8 0 5 3 8
EE P27 — 1 0 1 1
ol #E RIS 0 0 0
o|xMr tEx SvLE> 0 0 0
BEERE S SvILyY> 0 0 0
o|BA F—LUKT 0 0 0
olam BX =AIO—> 0 0 0
oM BEA [V 0 0 0
o|XNl e [>T — 0 0 0
o0 Ha e 0 0 0
9|AR e BAOU—> 0 0 0
o|ER 1% BAOU—> 0 0 0
HEEIEES FLY IR 0 0 0
BEEES FLYOX 0 0 0
o|BaE =A RAIBTT 0 0 0
olf|k B RN HIRFr 0 0 0
HE e 0 0 0
9|k BRI SV 0 0 0
ol#H % P27 - 0 0
9|5 =8 e 0 0
o|Em = ZA—kE= 0 0




TH304E ATA RANKING (2BRET)

[ AF5>6 0RULEBFITILZ | 2018707305 HE4
. o P— ail | REE | DRE | RoE | mE | RE=E | 2018F | REF | DRE | BoE | @E | RE= | 201/F
Point 18.04 18.09 18.11 18.11 19.01 Point 17.04 17.09 17.11 17.11 18.01 Point

1|EE EX 21— hE— 92 0 60 32 92
18] 3k 1 —hE— 92 0 60 32 92
3|HEK &t F—LURT 65 0 65 65
4|88 W= EHO-> 47 0 45 2 47
5|=R Al EAO—> 45 0 45 45
6|A  BK SN — 37 0 5 32 37
6|EmAR ERK SN — 37 0 5 32 37
8|z RS EAO—> 17 0 15 2 17
o|I\EE WA |EAO—> 15 0 15 15
o|El #— SR — 15 0 15 15
o|MEA EE SR — 15 0 15 15
12|54 5 P 5 0 5 5
12|tRIX %5 N 5 0 5 5
14l %= SvLE> 2 0 2 2
14|80 ER EAO—> 2 0 2 2
16|75 —& ot 1 0 1 1
16| AfT IE— ot 1 0 1 1
18|RE % SvLE> 0 0 0 0
18|77 #05 P27 - 0 0 0
18|44 R P27 — 0 0 0
18|&F F—8 |F-LURT 0 0 0
18(75%  #v— F—LURT 0 0 0
18|80 A F—LUBT 0 0 0
18 B3 stk EAIH 1 0 0 0
18 ARE —f  |=RIHEH 0 0
18 AfF 23 F—LUBT 0 0
18 A3 ESF SN — 0 0
18| 52 EAIH 1 0 0
18/\8 BEE  [Svld> 0 0 0




